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41. Communication skill is the ability and talent to .........c..ccevvinnnnne .
a-  send and receive messages successfully with others
b-  get personal goals
C-  occupy different but overlapping environments
d-  assist in learning
42. There are two types of communication skills, these types are ............ skills.
a-  signal and channel b- physical and practical
C-  verbal and nonverbal d-  social and identity
43. In SPAM model, the audience refers to the. ................... to which/to whom
the presentation is directed.
a-  place b- situation
C-  method d-  people
44. The type of presentation in which the presenter tries to obtain and keep the
audience's attention is a/an ..........cceeivinnen. .
a-  informative presentation b-  persuasive presentation
C-  entertaining presentation d-  content presentation
45. One of the guidelines for effective delivery of the presentation introduction is to
be .............
a-  natural b-  satisfied
C-  honest d-  unfamiliar with your topic
46. Semantics is a branch of linguistic science that studies ............cccevnenen. .
a-  the way words are assembled
b- the meanings of words
C-  how sounds are combined to form words
d-  the way in which language is used to interpret real intentions in particular
situations
.y can help you to give bad news easier; for example, "'That's an
interesting outfit."*
a-  Euphemistic language b- Relative language
C-  Abstraction language d- Equivocal language
48. Artifactual communication includes ..............c.e.ee. .
a-  vocal aspects of language
b-  orientation (face to face, one sitting, one standing ...etc.)
C-  things like kind of clothing people wear, the colors they use
d-  space and time
ExamiratonsS-evaluation-srtwinter2042
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49. Color sends strong messages, Blue color signifies ................. in Cherokee Indian.
a-  defeat b-  danger
C-  joyous d-  truce
50. One of the important suggestions for controlling speech anxiety is to .............. .

a-  feel subordinate to your audience
b- focus on the audience
C-  undergo evaluation

d-  rely on a second language

51. The gesture of circled thumb and forefinger has different meanings in
different cultures. For Americans it means ................ .
a- | WILL KILL YOU b-  ZERO
C- MONEY d- oK

52. If you want to show respectful for an American man while you are speaking with
him, you should ..............ccceevnees .
a-  keep eye contact with him
b- continue looking at him with stopping
C-  look at him but not too long
d-  never look at him

53. The process of handling questions effectively means to have the skill of ...... .
a-  reading process b-  speaking process
C-  listening process d-  writing process

54. Isyour voice too shrill or strained? Do you speak in a monotone? In normal
speech, pitch varies. These variations are known as ................ .
a-  inflection b- volume
c-  quality d-  rate

55. In telephone calls we usually use some vocabularies such as; "'log a call'* and it
MEans .cceeeeeees .
a-  stop talking b-  making a call
C-  leaving a message d- closing the telephone call

56. When a receptionist receives a certain call from a certain speaker, he should
open his response by .................
a-  naming his name and his family's name
b- asking politely if any help is required
C-  naming his company and his name
d-  identifying the caller
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57. On atelephone call, if you are over stimulated, tend to seek and enter into
arguments and judge before comprehension is completed, then you are a/an
...................... listener.

a-  good b-  successful
c-  effective d-  poor
58. The purpose of a Problem Solving Meeting is ..ccccevveeieiieniinnnnns .
a-  to discuss an issue or conflict and make a decision on how to solve it
b-  to decide how to deal with the present as well as to prevent future problems
C-  to produce new ideas about a specific topic
d-  to give and receive information about a specific idea or important matter

59. Each meeting should have a concise written .................. that is distributed
in advance to all participants.
a-  handout b-  agenda
C-  postcard d-  minutes
60. The type of conflict that discusses the allocation of resources, salaries, vacation
time, and office space is called a/an ....................... conflict.
a-  subjective b- relationship
C-  objective d-  social
Olslal) 5Ly babad
61. The term that describes the combined resistive forces in an ac circuit is:
a-  resistance. b-  impedance.
c-  reactance. d-  capacitance.

62. Transfer of electric energy from one circuit to another without the aid of
electrical connections:

a- iscalled induction.
b- s called capacitance.

C-  can cause excessive arcing and heat, and as a result is practical for use only
with low voltages/amperages.

d- s called airgap transfer.
63. The amount of electricity a capacitor can store is directly proportional to the:
a-  plate area and is not affected by the distance between the plates.

b-  plate area and inversely proportional to the distance between the plates.
c-  distance between the plates and inversely proportional to the plate area.
d- plate area and inversely proportional to the material resistively.

64. What unit is used to express electrical power?
a- Volt. b-  Watt.
c-  Ampere. d- kJ/s

65. The correct way to connect a test voltmeter in a circuit is:
a-  inseries with a unit.
b-  in parallel with a unit.
c-  between the source voltage and the load.
d-  The same in parallel or in series.
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66. Which term means 0.001 ampere?
a-  Kiloampere. b- Microampere.
c-  Milliampere. d- Nano ampere.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

What is the operating resistance of a 24 watt light bulb designed for a 12 volt
system?

a- 1.07 ohms. b-  0.93 ohm.

c- 26 ohms. d- 6 ohms.

Through which material will magnetic lines of force pass the most readily?
a-  lron. b-  Copper.

c-  Aluminum. d-  Wood.

How can the state of charge of a nickel cadmium battery be determined?
a- By ameasured discharge.

b- By the level of the electrolyte.

c- By measuring the specific gravity of the electrolyte.

d- By checking the plates condition.

In an electrical circuit if VP=200v then the V. is equal to:

a- l1ld44v b- 1414 v
c- 7.07v d- 70.7v
The unit of impedance (2) is:

a- tesla b- HZ

c- ohm d- no unit

The commutator used for:

a-  convert the D.C voltage to A.C voltage.
b-  convert the A.C voltage to D.C voltage.
c-  connect the generator to the load.

d-  all of the above is correct.

The unit of the electrical capacitance is:

a-  watt b-  ampere

c- farad d- volt

The direction of the current inside the source is from:

a-  positive to negative b-  negative to positive
c-  north to south d-  south to north

The generator member which converts AC to DC is called:

a-  Armature b-  Commutator

c-  Brushes d- Poles of magnet

In the circuit shown find Ir;:

L
We= 20y —— .= 40
§ § Ro =20
L
a- 033A b- 1A
c- 0.75A d- 05A
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77. Ref to the previous question No. 12 the total resistance Rt equals:
a-  0.75Q b- 0.075 Q
c- 1.33Q d- 13.33 Q
78. The Time needed to complete One Cycle is:
a- Period b- Frequency
c- Peak Value d- R.M.SValue

79. The total capacitance for the circuit bellow is:

H H
I I
H ullfd
I RY
a- 4puF b- 1 pF
c- 05uF d- 0.25puF
80. To measure the current in a circuit we use:
a-  avoltmeter in parallel. b-  watt meter.
Cc-  an ammeter in series. d-  tachometer.
aladl ) jual) ale
81. Select the container size that will be equal in volume to 60 gallons of fuel.
a- 7.5 cubic feet. b- 8.0 cubic feet.
c- 8.5 cubic feet. d- 9 cubic feet.
82. Select the fraction which is equal to 0.0250.
a- 1/4. b-  1/40.
c-  1/400. d-  1/4000.
83. Select the fractional equivalent for a 0.0625 inch thick sheet of aluminum.
a- 1/16. b-  3/64.
c- 1/32. d-  3/32.
84. Sixty-five engines are what percent of 80 engines?
a- 65 percent. b- 52 percent.
c- 71 percent. d- 81 percent.
85. What is the ratio of 10 feet to 30 inches?
a- 41 b- 1:3
c- 31 d- 1:6
86. What power of 10 is equal to 1,000,000,000?
a- 10 to the sixth power. b- 10 to the tenth power.
c- 10 to the ninth power. d- 10 to the fourth power.
87. What is the square root of 4 raised to the fifth power?
a- 32 b- 64
c- 20 d- 16

88. How much current does a 30-volt, 1/2 horsepower motor that is 85 percent efficient
draw from the bus?
(Note: 1 horsepower = 746 watts)
a-  14.6 amperes. b- 12.4 amperes.
c-  14.3 amperes. d- 12.3 amperes.
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89.

90.

91.

92.

93.

94,

95.

96.

97.

Compute the following quantity:

[(4% -3)+(-0* 2)]+ 2=
a- 15 b- -15

c- 5 d 0

A rectangular-shaped fuel tank measures 60 inches in length, 30 inches in

width, and 12 inches in depth. How many cubic feet are within the tank?

a- 15.0. b-  21.0.

c- 18.5. d- 125,

How much work input is required to lower (not drop) a 120-pound weight
from the top of a 3-foot table to the floor?

a- 120 pounds of force. b- 120 foot-pounds.

c- 360 foot-pounds. d- 40 foot-pounds.

What force must be applied to roll a 120-pound barrel up an inclined plane 9 feet
long to a height of 3 feet (disregard friction)?

L+-I=R=+E

L = Length of ramp, measured along the slope.

I = Height of ramp.

R = Weight of object to be raised or lowered.

E = Force required to raise or lower object.

a- 40 pounds. b- 120 pounds.

c- 360 pounds. d- 393 pounds.

Which of the following is NOT considered a method of heat transfer?
a-  Convection. b- Conduction.

c- Radiation. d- Diffusion.

Which statement concerning heat and/or temperature is true?
a-  There is a direct relationship between temperature and heat.
b-  There is an inverse relationship between temperature and heat.

c- Temperature is a measure of the kinetic energy of the molecules of any
substance.

d-  Temperature is a measure of the potential energy of the molecules of any
substance.

If the volume of a confined gas is doubled (without the addition of more gas),
the pressure will (assume the temperature remains constant)

a- increase in direct proportion to the volume increase.
b-  remain the same.

c- be doubled.

d-  be reduced to one-half its original value.

If both the volume and the absolute temperature of a confined gas are

doubled, the pressure will

a-  not change. b-  be doubled.

c-  be halved. d-  become four times as great.

If the fluid pressure is 800 PSI in a 1/2-inch line supplying an actuating cylinder
with a piston area of 10 square inches, the force exerted on the piston will be

a- 4,000 pounds. b- 8,000 pounds.

c- 800 pounds. d- 400 pounds.
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098. The speed of sound in the atmosphere is most affected by variations in which of the
following?

1. Sound frequency (cps).
2. Ambient temperature.
3. Barometric pressure

a- L b- 2.
c- 3 d- 1 and 3.
99. Which condition is the actual amount of water vapor in a mixture of air and
water?
a-  Relative humidity. b- Dewpoint.
c-  Absolute humidity. d-  Vapor pressure.

100. An airplane wing is designed to produce lift resulting from:

a-  positive air pressure below and above the wing's surface along with the
downward deflection of air.

b-  negative air pressure below and above the wing's surface along with the
downward deflection of air.

c-  positive air pressure below the wing's surface and negative air pressure above
the wing's surface along with the downward deflection of air.

d- negative air pressure below the wing's surface and positive air pressure above
the wing's surface along with the downward deflection of air.
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